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§ 4 a. Discuss the propertlesﬁof%ﬁoolean differences. (05 Marks)
2 b.  Define the Booléan difference with respect to x, for the function £(x) = (X, +x, X3 + X.X, .
g 1Y 3 17X, 3Xy
= (05 Marks)
C. (06 Marks)
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Module-3

5 a. Find the equivalence partion for the machine M; shown in:table Q5 (a). Show a standard

form of the corresponding reduced machine. (12 Marks)
Machine Mkv

ps NS, ﬁ :

0

_Ca0~ A, 0

1 B30 | G, 0

G, 0 | A, 0

"F,1 | B,0

E,0 | D,0

D,0 | G0

Vo Yot Table Q5 (a
b. Prove that the equivalence pg,rtf?m is unique. (04 Marks)
N S |
<y ¥ OR -

6 a. Draw the merger and%@mpatlblhty graph for the ni%%mpletely specified machine M shown
in Table Q6 (a) andﬁ@n'i the minimal machine which covers M. (12 Marks)

PS

b. Prove that if two statesw Si and Sj of n@igehme M are dlstmgulshable then they are

distinguishable by a féquence of length%%‘ or less, wheré“ | is the number of states in M.
g (04 Marks)

gj dﬂule 4 ¢
7 a. Given the machine table in Tabg%@g CW (a). M3 and t;we’» assignments o and B, derive in each
case th&dﬁ)glcal equation for tH%Mte variables anﬂ@b ‘output function. ~

Machine Mg‘%
NS ‘ Z
x=0|x=1
0 1
C 0 0
B 0 0
A 0 1
Fig. Q7 (a)
¥ Assignment%a Assignment 3
Y1Y2 A ) Z Y1Y2 Z
V2 =0 [ x ZdPhk=0]x=1 YV =0 x=1]x=0]x=1
A—00| 00 | L 0 1 A—00| 00 | 11 0 1
B—01]| 0044 11 0 0 B—>01| 00 | 10 0 0
Coll| YL, po1 | 0 0 Co10[ 1001 | O 0
D10 1 ¥ ]| 00 0 1 D—>11| 10 ] 00 0 1
(10 Marks)
b. Explaw‘t@“e lattlce of closed partitions. (06 Marks)
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8 a. Construct the 7 — lattice for the machine M4 shown in Tab] \

' (a). (10 Marks)

b.  Explain the following :
6)) Covers

) N
(i) The 1mp11cat%§&n gragh (06 Marks)

P | 5‘%%

9 a. Draw the homing.

;ﬁre@m and synchronizing tree @f machine M5 shown in table Q9 (a) and

explain it. (10 Marks)
b. Write a note on: .
(i) Dlstmgulshable tree. R
(i1) Adapt1ve&%stmgulshmg experlmeﬁts (06 Marks)

e QN OR ¢
10 a. List the general procedure in se¢ond algorithm for t’b&”demgn of fault detection experiments.

~ N &Mg : 4 (06 Marks)
b.  What, Ls%dxagnosable seque%?w éumachine? Construct@i’ﬁestmg table and graph for machine M6
shown in table Q10 (b).. .9 » ¢ 5
ﬁ% WNONS, Z
A B, 0| DO
B A,0 | B,0
8 D,1 | AO
D D,1 | C0
Table Q10 (b)

(10 Marks)
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